


Preview

* After weeks, finally found the problem with the
luminosity for the simple offset study.
— Fixed small problems
— Discovered inconsistencies which have been reported (and
likely ignored)

— Found out the grid and mesh sizes were hard-coded deep in
the LinSim system, and | was attempting to overwrite these
* The competition made things break



Plots courtesy of Neven:
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Luminosity vs. Beam Offset In Y - Averaged over 5 Iterations
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Luminosity vs. Beam-beam Deflection Angle In Y - Averaged over 5 Iterations
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